

Page: 1/15

Sales Order Number: **Sales Order Date:**

SO-051433 05/14/25

Sold To: Ship To:

Paramount Export Agnes Chen

Tel: 323 581 1990

175 Filbert Stret, Suite # 201

Oakland, 94607

CA

Customer ID

P.O. Number

P.O. Date

United States

PAE

P00032832

05/14/25

CSR

Terms

Tax Ident. Type

INCOTERMS

Eduardo Linares

Net 14 Legal Entity

FCA LOS ANGELES, CA

Ship Via

Paramount c/o Listo Produce

Los Angeles, CA 90021

1800 Bay St

Case Gross

Less Than Truck load

Delivery Date

Appointment Number Appointment Time

Item No.		Brand	Description	Pack Size	Case Net Weight LBS	Weight LBS	Pallets	Cubic (cft)	Qty	UOM	Unit Price USD	Total Price USD
75925-28500	CRYSTAL FARMS SWISS STYLE	CRYSTAL FARMS	Swiss Style IWS Singles (16-Slices) Plant No.: 55-261 / 1461233	12/12OZ	36.00	40.00	0.02	0.88	4	Case	33.11	132.44
75925-28520	CRYSTAL FARMS SHARP POLICIANS SHARP CONTROL OF THE POLICIANS SHAPP CONTROL OF THE POLICIANS S	CRYSTAL FARMS	Sharp IWS Singles (16-Slices) Plant No.: 55-261 / 1461233	12/12OZ	36.00	40.00	0.02	0.88	4	Case	32.19	128.76
75925-28600	CRYSTAL FARMS	CRYSTAL FARMS	American Fat-Free IWS Singles (16-Slices) Plant No.: 55-261 / 1461233	12/12OZ	45.00	50.00	0.03	1.10	5	Case	31.66	158.30
75925-30006	CRYSTAL FARMS AMERICAN AMERICAN	CRYSTAL FARMS	American IWS Singles (12-Slices) Plant No.: 55-261 / 1461233	12/8OZ	24.00	26.00	0.01	0.68	4	Case	21.48	85.92
75925-30017	CRYSTAL FARMS	CRYSTAL FARMS	American IWS Singles (16-Slices) Plant No.: 55-261 / 1461233	12/12OZ	36.00	40.00	0.02	0.88	4	Case	31.84	127.36

Advanced payment customer to send funds with estimate approval. Possible 10% variance on the minimum guaranteed shelf life. Product unconformities must be noted on Bill of Lading at time of delivery by Consignee Shipping or Forwarding Agen on BOL and Tropical Foods Delivery Conf 34 - 38 F. Prices subject to change witho

t. TropicalFoods will not provide reimbursement without notations		
firmation. Perishable products are required to be stored at a range of		
ut notice.		
	l	
	_	



Eduardo Linares

Net 14

Legal Entity

SALES ORDER

Page: 2/15

Sales Order Number: **Sales Order Date:**

SO-051433 05/14/25

Less Than Truck load

Sold To: Ship To:

Paramount Export Agnes Chen

Tel: 323 581 1990

175 Filbert Stret, Suite # 201

Oakland, 94607

CA

Customer ID

P.O. Number

P.O. Date

United States

PAE

P00032832 05/14/25

Tax Ident. Type

CSR

Terms

INCOTERMS FCA LOS ANGELES, CA

Paramount c/o Listo Produce

Ship Via

Delivery Date

Appointment Number

Appointment Time

1800 Bay St

C--- C---

Los Angeles, CA 90021

Item No.		Brand	Description	Pack Size	Case Net Weight LBS	Case Gross Weight LBS	Pallets	Cubic (cft)	Qty	иом	Unit Price USD	Total Price USD
75925-30019	OFFILING	CRYSTAL FARMS	Mozzarella Chunk Plant No.: 55-261 / 1461233	12/8OZ	18.00	19.50	0.01	0.54	3	Case	26.04	78.12
75925-30022	CRYSTAL FARMS	CRYSTAL FARMS	American IWS Singles (24-Slices) Plant No.: 55-261 / 1461233	12/16OZ	36.00	39.00	0.02	0.93	3	Case	42.88	128.64
75925-30040	CRYSTAL FARMS WHITE AMERICAN WHITE AMERICAN	CRYSTAL FARMS	White American IWS Singles (16-Slices) Plant No.: 55-261 / 1461233	12/12OZ	27.00	30.00	0.02	0.66	3	Case	32.71	98.13
75925-30067	CHISTAL NAME STRING OPEN	CRYSTAL FARMS	Mozzarella IW String Cheese (12-Count) Plant No.: 55-261 / 1461233	12/10OZ	22.50	25.50	0.03	1.23	3	Case	40.37	121.11
75925-30088	CHILLIAN	CRYSTAL FARMS	Sharp Cheddar Chunk Plant No.: 55-261 / 1461233	12/16OZ	36.00	39.00	0.02	0.99	3	Case	55.73	167.19



Page: 3/15

Sales Order Number: **Sales Order Date:**

SO-051433 05/14/25

Sold To: Ship To:

Paramount Export Agnes Chen

Tel: 323 581 1990

175 Filbert Stret, Suite # 201

Oakland, 94607

CA

Customer ID

P.O. Number

P.O. Date

United States

PAE

P00032832

05/14/25

CSR

Terms Tax Ident. Type **INCOTERMS**

Eduardo Linares Net 14

Legal Entity

FCA LOS ANGELES, CA

Ship Via

Paramount c/o Listo Produce

Los Angeles, CA 90021

1800 Bay St

Case Gross

Less Than Truck load

Delivery Date

Appointment Number Appointment Time

Item No.		Brand	Description	Pack Size	Case Net Weight LBS	Weight LBS	Pallets	Cubic (cft)	Qty	иом	Unit Price USD	Total Price USD
75925-30102	CONTROL STATE	CRYSTAL FARMS	Colby Cheese Chunk Plant No.: 55-261 / 1461233	12/8OZ	18.00	19.50	0.01	0.48	3	Case	24.89	74.67
75925-30103	THE SAME	CRYSTAL FARMS	Medium Cheddar Chunk Plant No.: 55-261 / 1461233	12/8OZ	24.00	26.00	0.01	0.64	4	Case	25.78	103.12
75925-30105	CHILL NAME OF THE PARTY OF THE	CRYSTAL FARMS	Sharp Cheddar Chunk Plant No.: 55-261 / 1461233	12/8OZ	18.00	19.50	0.01	0.48	3	Case	27.69	83.07
75925-30107	Charles Special Communication of the Charles Spe	CRYSTAL FARMS	Extra Sharp Cheddar Chunk Plant No.: 55-261 / 1461233	12/8OZ	24.00	26.00	0.01	0.72	4	Case	29.76	119.04
75925-30111	CHAIR MARK	CRYSTAL FARMS	Marble Jack Chunk Plant No.: 55-261 / 1461233	12/8OZ	18.00	19.50	0.01	0.48	3	Case	25.53	76.59

Advanced payment customer to send funds with estimate approval. Possible guaranteed shelf life. Product unconformities must be noted on Bill of Ladir Consignee Shipping or Forwarding Agent. TropicalFoods will not provide re on BOL and Tropical Foods Delivery Confirmation. Perishable products are r 34 - 38 F. Prices subject to change without notice.

e 10% variance on the minimum	
ng at time of delivery by	
imbursement without notations	
required to be stored at a range of	



Page: 4/15 SO-051433

Sales Order Number: **Sales Order Date:** 05/14/25

Sold To: Ship To:

Paramount Export Agnes Chen

Tel: 323 581 1990

175 Filbert Stret, Suite # 201

Oakland, 94607

CA

United States

Customer ID

P.O. Number P.O. Date

PAE

P00032832 05/14/25

Terms Tax Ident. Type

CSR

Eduardo Linares Net 14

Legal Entity

INCOTERMS FCA LOS ANGELES, CA Ship Via

Paramount c/o Listo Produce

Los Angeles, CA 90021

1800 Bay St

Case Gross

Less Than Truck load

Delivery Date

Appointment Number Appointment Time

Item No.		Brand	Description	Pack Size	Case Net Weight LBS	Weight LBS	Pallets	Cubic (cft)	Qty	иом	Unit Price USD	Total Price USD
75925-30116	DATE LANG	CRYSTAL FARMS	Original Cream Cheese Plant No.: 55-261 / 1461233	3/12-8OZ	54.00	60.45	0.03	1.32	3	Case	68.20	204.60
75925-30118	aviiline of the same of the sa	CRYSTAL FARMS	Original Cream Cheese (Tub) Plant No.: 55-261/1461233	12/8OZ	18.00	20.73	0.02	1.05	3	Case	29.03	87.09
75925-30120	CHICALINE PRINCESIN	CRYSTAL FARMS	Grated Parmesan Shaker Plant No.: 55-261 / 1461233	12/8OZ	90.00	105.00	0.1	6.0	15	Case	39.27	589.05
75925-30122	grow later PROYESTA	CRYSTAL FARMS	Grated Parmesan Mini Canisters Plant No.: 55-261 / 1461233	24/3OZ	40.50	49.50	0.07	3.06	9	Case	36.74	330.66
75925-30125	CRYSTAL FARMS	CRYSTAL FARMS	Part-Skim Ricotta Cheese Plant No.: 55-284/2120613	6/15OZ	16.88	19.88	0.03	0.81	3	Case	20.22	60.66

Advanced payment customer to send funds with estimate approval. Possible 10% variance on the minimum guaranteed shelf life. Product unconformities must be noted Consignee Shipping or Forwarding Agent. TropicalFoods wil on BOL and Tropical Foods Delivery Confirmation. Perishable 34 - 38 F. Prices subject to change without notice.

1
•



Page: 5/15

Sales Order Number: **Sales Order Date:**

SO-051433 05/14/25

Sold To: Ship To:

Paramount Export Agnes Chen

Tel: 323 581 1990

175 Filbert Stret, Suite # 201

Oakland, 94607

CA

Customer ID

P.O. Number

P.O. Date

United States

PAE

P00032832

05/14/25

CSR

Terms

Tax Ident. Type **INCOTERMS**

Eduardo Linares Net 14

Legal Entity

FCA LOS ANGELES, CA

Ship Via

Paramount c/o Listo Produce

Los Angeles, CA 90021

1800 Bay St

Case Gross

Less Than Truck load

Delivery Date

Appointment Number Appointment Time

Item No.		Brand	Description	Pack Size	Case Net Weight LBS	Weight LBS	Pallets	Cubic (cft)	Qty	иом	Unit Price USD	Total Price USD
75925-30128	CRYSTAL FARMS	CRYSTAL FARMS	Whole Milk Ricotta Cheese Plant No.: 55-284 / 2120613	6/15OZ	16.88	19.88	0.03	0.81	3	Case	20.73	62.19
75925-30142	UNITE HOSE OPPLIEDED	CRYSTAL FARMS	Chive Onion Cream Cheese Spread Plant No.: 48-9725 / 3004123936	12/8OZ	18.00	20.67	0.02	1.05	3	Case	29.45	88.35
75925-30170	CHISTA HANG	CRYSTAL FARMS	Light Mozzarella String Cheese (12-Count) Plant No.: 29-145 / 3004352359	12/10OZ	22.50	25.50	0.02	0.99	3	Case	43.71	131.13
75925-30172	CRISTAL FABUS	CRYSTAL FARMS	Light Mozzarella String Cheese (24-Count) Plant No.: 29-145 / 3004352359	12/20OZ	45.00	46.50	0.03	1.77	3	Case	85.80	257.40
75925-30222	on This law	CRYSTAL FARMS	American Shingled Slices (10-Slices) Plant No.: 55-261 / 1461233	12/8OZ	18.00	19.77	0.02	0.93	3	Case	35.29	105.87



Page: 6/15 SO-051433

Sales Order Number: Sales Order Date:

05/14/25

Sold To: Ship To:

Paramount Export Agnes Chen

Tel: 323 581 1990

175 Filbert Stret, Suite # 201

Oakland, 94607

CA

Customer ID

P.O. Number

P.O. Date

United States

PAE

P00032832

05/14/25

CSR

Terms Tax Ident. Type **Eduardo Linares** Net 14

Legal Entity

INCOTERMS FCA LOS ANGELES, CA

Paramount c/o Listo Produce

Los Angeles, CA 90021

1800 Bay St

Case Gross

Ship Via Less Than Truck load

Delivery Date Appointment Number Appointment Time

Case Net Weight Cubic **Unit Price** Total Description Weight LBS LBS **UOM** USD Item No. Brand Pack Size **Pallets** (cft) Qty Price USD 75925-30223 **CRYSTAL** Smoked Cheddar Shingled Slices (10-Slices) 12/8OZ 18.00 19.77 0.02 0.93 3 Case 37.17 111.51 **FARMS** Plant No.: 55-261 / 1461233 75925-30230 **CRYSTAL** Havarti Cheese Shingled Slices (10-Slices) 12/70Z 15.75 17.52 0.02 1.02 3 32.90 98.70 Case Plant No.: 55-250 / 2120930 **FARMS** 75925-30334 **CRYSTAL** Shredded Parmesan Cheese (Tub) 12/5OZ 18.75 25.05 0.03 2.40 5 33.12 Case 165.60 **FARMS** Plant No.: 55-261 / 1461233 75925-30336 0.75 72.21 **CRYSTAL** Feta Cheese Crumbles (Tub) 12/4OZ 9.00 14.25 0.02 3 Case 24.07 **FARMS** Plant No.: 55-48 / 2127868 **CRYSTAL** 75925-30337 Shaved Parmesan Cheese (Tub) 12/5OZ 11.25 13.05 0.02 3 Case 33.12 99.36 1.44 **FARMS** Plant No.: 55-230 / 3007126571

Advanced payment customer to send funds with estimate approval. Possible 10% variance on the minimum guaranteed shelf life. Product unconformitie Consignee Shipping or Forwarding Agent. To on BOL and Tropical Foods Delivery Confirm 34 - 38 F. Prices subject to change without r

with estimate approval. Possible 10% variance on the minimum	1
es must be noted on Bill of Lading at time of delivery by	
ropicalFoods will not provide reimbursement without notations	
nation. Perishable products are required to be stored at a range of	
notice.	



Page: 7/15

Sales Order Number: Sales Order Date: SO-051433 05/14/25

Sold To: Ship To:

Paramount Export Agnes Chen

Tel: 323 581 1990

175 Filbert Stret, Suite # 201

Oakland, 94607

CA

Customer ID

P.O. Number

P.O. Date

United States

PAE

P00032832 05/14/25 CSR

Terms

Eduardo Linares Net 14

Tax Ident. Type Legal Entity

INCOTERMS FCA LOS ANGELES, CA

Ship Via

Paramount c/o Listo Produce

Los Angeles, CA 90021

1800 Bay St

Case Gross

Less Than Truck load

Delivery Date

Appointment Number
Appointment Time

Item No.		Brand	Description	Pack Size	Case Net Weight LBS	Weight LBS	Pallets	Cubic (cft)	Qty	иом	Unit Price USD	Total Price USD
75925-30418	GRISAL FAME SIDMS OFFEE	CRYSTAL FARMS	Mozzarella IW String Cheese (24-Count) Plant No.: 29-145 / 3004352359	12/20OZ	45.00	46.50	0.06	2.49	3	Case	84.30	252.90
75925-30444	IRANS	CRYSTAL FARMS	Sharp Cheddar Thins Shingled Slices (18-Slices) Plant No.: 55-250 / 2120930	12/6.84OZ	15.39	16.89	0.02	0.84	3	Case	39.32	117.96
75925-30454	ord lang	CRYSTAL FARMS	Grated Parmesan Romano Shaker Plant No.: 55-261 / 1461233	12/8OZ	42.00	49.00	0.05	2.8	7	Case	39.27	274.89
75925-30621	CRYSTAL FARMS MOZZASTLA	CRYSTAL FARMS	Shredded Mozzarella Cheese Plant No.: 55-261 / 1461233	12/8OZ	18.00	20.25	0.03	1.2	3	Case	29.00	87.00
75925-30622	CRYSTAL FARMS CHEDOAR CHEEK	CRYSTAL FARMS	Shredded Cheddar Cheese Plant No.: 55-261 / 1461233	12/8OZ	24.00	27.00	0.04	1.6	4	Case	29.06	116.24



Page: 8/15 SO-051433

Sales Order Number: **Sales Order Date:**

05/14/25

Sold To: Ship To:

Paramount Export Agnes Chen

Tel: 323 581 1990

175 Filbert Stret, Suite # 201

Oakland, 94607

CA

Customer ID

P.O. Number

P.O. Date

United States

PAE

P00032832 05/14/25

CSR

Terms Tax Ident. Type

Eduardo Linares Net 14

Legal Entity

INCOTERMS FCA LOS ANGELES, CA Ship Via

Paramount c/o Listo Produce

Los Angeles, CA 90021

1800 Bay St

Case Gross

Less Than Truck load

Delivery Date

Appointment Number Appointment Time

Item No.		Brand	Description	Pack Size	Case Net Weight LBS	Weight LBS	Pallets	Cubic (cft)	Qty	иом	Unit Price USD	Total Price USD
75925-30625	ENVILL HAMS MARKE MX	CRYSTAL FARMS	Shredded Marble Jack Cheese Plant No.: 55-261 / 1461233	12/8OZ	24.00	27.00	0.04	1.6	4	Case	29.06	116.24
75925-30628	DAYSTAL FRAMS DEBOR HOL	CRYSTAL FARMS	Shredded Cheddar Jack Cheese Plant No.: 55-261 / 1461233	12/8OZ	18.00	20.25	0.03	1.2	3	Case	29.01	87.03
75925-30629	DAYSTAL FRAMS CHEDOAR CHEEK	CRYSTAL FARMS	Finely Shredded Cheddar Cheese Plant No.: 55-261 / 1461233	12/8OZ	18.00	20.25	0.03	1.2	3	Case	29.07	87.21
75925-30631	CAYSTAL FRAMS MOZZAGUA	CRYSTAL FARMS	Finely Shredded Mozzarella Cheese Plant No.: 55-261 / 1461233	12/8OZ	18.00	20.25	0.03	1.2	3	Case	29.01	87.03
75925-30633	CHYSTAL FASAIS MARRIE MCA	CRYSTAL FARMS	Finely Shredded Marble Jack Cheese Plant No.: 55-261 / 1461233	12/8OZ	30.00	33.75	0.05	2.0	5	Case	29.12	145.60



Page: 9/15

Sales Order Number: **Sales Order Date:**

SO-051433 05/14/25

Sold To: Ship To:

Paramount Export Agnes Chen

Tel: 323 581 1990

175 Filbert Stret, Suite # 201

Oakland, 94607

CA

Customer ID

P.O. Number

P.O. Date

United States

PAE

P00032832

05/14/25

CSR

Terms Tax Ident. Type

Legal Entity **INCOTERMS**

FCA LOS ANGELES, CA

Net 14

Eduardo Linares

Los Angeles, CA 90021

Paramount c/o Listo Produce

1800 Bay St

Case Gross

Ship Via Less Than Truck load

Delivery Date

Appointment Number Appointment Time

Item No.		Brand	Description	Pack Size	Case Net Weight LBS	Weight LBS	Pallets	Cubic (cft)	Qty	иом	Unit Price USD	Total Price USD
75925-30639	ENVITAL FARMS MONTEREY MIX	CRYSTAL FARMS	Shredded Monterey Jack Cheese Plant No.: 55-261 / 1461233	12/8OZ	18.00	20.25	0.03	1.2	3	Case	28.94	86.82
75925-30643	CATSTAL FASHS WHITE SHIP CHECKS	CRYSTAL FARMS	Shredded White Sharp Cheddar Cheese Plant No.: 55-261 / 1461233	12/8OZ	18.00	20.25	0.03	1.2	3	Case	31.19	93.57
75925-30656	CHATTLE SAME MOTOURIA	CRYSTAL FARMS	Finely Shredded Mozzarella Cheese Plant No.: 55-261 / 1461233	6/16OZ	18.00	20.25	0.03	1.2	3	Case	29.75	89.25
75925-40120	PAN	CRYSTAL FARMS	David's Deli Plain Bagels (5-Count)	12/14.25O Z	106.80	118.30	0.11	8.80	10	Case	25.41	254.10
75925-40122	SSAME	CRYSTAL FARMS	David's Deli Sesame Bagels (5-Count)	12/14.25O Z	64.08	70.98	0.07	5.28	6	Case	24.31	145.86

I			



Page: 10/15

Sales Order Number: Sales Order Date:

SO-051433 05/14/25

Sold To: Ship To:

Paramount Export Agnes Chen

Tel: 323 581 1990

175 Filbert Stret, Suite # 201

Oakland, 94607

CA

Customer ID

P.O. Number

P.O. Date

United States

PAE

P00032832

05/14/25

CSR

Terms Tax Ident. Type **INCOTERMS**

Eduardo Linares Net 14

Legal Entity

FCA LOS ANGELES, CA

Ship Via

Paramount c/o Listo Produce

Los Angeles, CA 90021

1800 Bay St

Less Than Truck load

Delivery Date

Appointment Number Appointment Time

Item No.		Brand	Description	Pack Size	Case Net Weight LBS	Case Gross Weight LBS	Pallets	Cubic (cft)	Qty	иом	Unit Price USD	Total Price USD
75925-40125	BLUGGRA	CRYSTAL FARMS	David's Deli Blueberry Bagels (5-Count)	12/14.25O Z	53.40	59.15	0.06	4.40	5	Case	26.15	130.75
75925-96044	ENSTAL FAMES	CRYSTAL FARMS	Shredded Pepper Jack Plant No.: 55-261 / 1461233	12/8OZ	18.00	20.25	0.03	1.11	3	Case	29.67	89.01
75925-30117	COUNTY COUNTY OF THE PARTY OF T	CRYSTAL FARMS	Light Cream Cheese (Tub) Plant No.: 55-261 / 1461233	12/8OZ	18.00	20.25	0.02	1.05	3	Case	29.22	87.66
75925-30737	partitu frieng	CRYSTAL FARMS	4 Cheese Mexican Style Shredded Blend Plant No.: 55-261/1461233	12/7 OZ	21.00	24.00	0.04	1.6	4	Case	28.86	115.44
75925-30738	DRYSTAL FARMS PIZZER PIZZER PIZZER PIZZER	CRYSTAL FARMS	Shredded Pizzeria Cheese Blend (Thick Cut) Plant No.: 55-261/1461233	12/7 OZ	15.75	18.00	0.03	1.2	3	Case	29.26	87.78

Adv gua Con on E

anced payment customer to send funds with estimate approval. Possible 10% variance on the minimum	
ranteed shelf life. Product unconformities must be noted on Bill of Lading at time of delivery by	
signee Shipping or Forwarding Agent. TropicalFoods will not provide reimbursement without notations	
BOL and Tropical Foods Delivery Confirmation. Perishable products are required to be stored at a range of	
- 38 F. Prices subject to change without notice.	



Page: 11/15 SO-051433

Sales Order Number: **Sales Order Date:** 05/14/25

Sold To: Ship To:

Paramount Export Agnes Chen

Tel: 323 581 1990

175 Filbert Stret, Suite # 201

Oakland, 94607

CA

Customer ID

P.O. Number

P.O. Date

United States

PAE

P00032832 05/14/25

CSR

Eduardo Linares Terms Net 14

Tax Ident. Type Legal Entity

INCOTERMS FCA LOS ANGELES, CA Ship Via

Paramount c/o Listo Produce

Los Angeles, CA 90021

1800 Bay St

Case Gross

Less Than Truck load

Delivery Date

Appointment Number Appointment Time

Item No.		Brand	Description	Pack Size	Case Net Weight LBS	Weight LBS	Pallets	Cubic (cft)	Qty	иом	Unit Price USD	Total Price USD
75925-30739	CHISTON DE LA CONTRACTOR DE LA CONTRACTO	CRYSTAL FARMS	Finely Shredded Mexican Style Taco Cheese Blend Plant No.: 55-261 / 1461233	12/7 OZ	15.75	18.00	0.03	1.2	3	Case	29.01	87.03
75925-30740	(STSTAL Many	CRYSTAL FARMS	Shredded 3 Cheese Mexican Style Blend Plant No.: 55-261 / 1461233	12/7OZ	21.00	24.00	0.04	1.6	4	Case	29.52	118.08
75925-30741	CHISTIC FALLS	CRYSTAL FARMS	Finely Shredded 6 Cheese Italian Plant No.: 55-261 / 1461233	12/7OZ	15.75	18.00	0.03	1.2	3	Case	29.66	88.98
75925-30742	CHISTLE HAME	CRYSTAL FARMS	Wisconsin Extra Sharp Cheddar Shredded Cheese Plant No.: 55-261 / 1461233	12/7OZ	15.75	18.00	0.03	1.2	3	Case	33.53	100.59
75925-30743	ENISTI ASAUS	CRYSTAL FARMS	Pizza Blend Shredded Cheese Plant No.: 55-261 / 1461233	12/7 OZ	15.75	18.00	0.03	1.2	3	Case	29.11	87.33



Page: 12/15

Sales Order Number: **Sales Order Date:**

SO-051433 05/14/25

Sold To: Ship To:

Paramount Export Agnes Chen

Tel: 323 581 1990

175 Filbert Stret, Suite # 201

Oakland, 94607

CA

Customer ID

P.O. Number

P.O. Date

United States

PAE

P00032832

05/14/25

CSR

Terms

Eduardo Linares Net 14

Tax Ident. Type Legal Entity **INCOTERMS**

FCA LOS ANGELES, CA

Ship Via

Paramount c/o Listo Produce

Los Angeles, CA 90021

1800 Bay St

Case Gross

Less Than Truck load

Delivery Date

Appointment Number Appointment Time

Item No.		Brand	Description	Pack Size	Case Net Weight LBS	Weight LBS	Pallets	Cubic (cft)	Qty	иом	Unit Price USD	Total Price USD
75925-30744	parsill Along NOTASSIA	CRYSTAL FARMS	Shredded Mozzarella Cheese (Reduced Fat) Plant No.: 55-261 / 1461233	12/7OZ	15.75	18.00	0.03	1.2	3	Case	29.05	87.15
75925-30745	CHECKE CHIST	CRYSTAL FARMS	Shredded Cheddar Cheese (Reduced Fat) Plant No.: 55-261 / 1461233	12/7 OZ	15.75	18.00	0.03	1.2	3	Case	30.12	90.36
75925-30747	CRISTIL ALONG SHAP CHOOSE GREY	CRYSTAL FARMS	Sharp Cheddar Shredded Cheese (Reduced Fat) Plant No.: 55-261/1461233	12/7 OZ	15.75	18.00	0.03	1.2	3	Case	30.12	90.36
75925-30751	GRYSTAL FARMS PWOMESIAN	CRYSTAL FARMS	Finely Shredded Parmesan Cheese Plant No.: 55-261 / 1461233	12/5.5OZ	37.08	43.83	0.09	3.6	9	Case	33.35	300.15
75925-30753	CHISTLE FAISUR ASNEON FRANCESIN	CRYSTAL FARMS	Asiago Parmesan Finely Shredded Cheese Blend Plant No.: 55-261 / 1461233	12/5.5 OZ	16.48	19.48	0.04	1.6	4	Case	34.39	137.56



Page: 13/15

Sales Order Number: Sales Order Date:

SO-051433 05/14/25

Sold To: Ship To:

Paramount Export Agnes Chen

Tel: 323 581 1990

175 Filbert Stret, Suite # 201

Oakland, 94607

CA

Customer ID

P.O. Number

P.O. Date

United States

PAE

P00032832 05/14/25

CSR

Terms Tax Ident. Type **Eduardo Linares** Net 14

Legal Entity **INCOTERMS**

FCA LOS ANGELES, CA

Ship Via

Paramount c/o Listo Produce

Los Angeles, CA 90021

1800 Bay St

Less Than Truck load

Delivery Date Appointment Number Appointment Time

Case Gross Case Net Weight Cubic **Unit Price** Total Description Weight LBS LBS **UOM** USD Item No. Brand Pack Size **Pallets** (cft) Qty Price USD 75925-30758 CRYSTAL Pepper Jack Chunk 12/7 OZ 15.75 17.25 0.01 0.54 3 Case 25.78 77.34 **FARMS** Plant No.: 55-261/1461233 75925-30759 **CRYSTAL** 12/70Z 15.75 17.25 0.01 0.54 3 25.85 77.55 Monterey Jack Chunk Case **FARMS** Plant No.: 55-261 / 1461233 75925-30763 Jalapeno Habanero Jack Chunk 12/7 OZ 15.75 17.25 0.01 0.54 3 25.90 **CRYSTAL** Case 77.70 **FARMS** Plant No.: 55-261 / 1461233 75925-30765 **CRYSTAL** 0.54 75.93 Cheddar Jack Chunk 12/70Z 15.75 17.25 0.01 3 Case 25.31 **FARMS** Plant No.: 55-261 / 1461233 75925-30775 **CRYSTAL** Provolone Cheese Chunk 12/70Z 15.75 17.25 0.54 3 26.46 79.38 0.01 Case **FARMS** Plant No.: 55-261/1461233



Page: 14/15

Sales Order Number: Sales Order Date: SO-051433 05/14/25

Sold To: Ship To:

Paramount Export Agnes Chen

Tel: 323 581 1990

175 Filbert Stret, Suite # 201

Oakland, 94607

CA

Customer ID

P.O. Number

P.O. Date

United States

PAE

P00032832 05/14/25

1/25 **T**

CSR

Terms

Tax Ident. Type INCOTERMS

Eduardo Linares Net 14

Legal Entity

FCA LOS ANGELES, CA

Ship Via

Paramount c/o Listo Produce

Los Angeles, CA 90021

1800 Bay St

Case Gross

Less Than Truck load

Delivery Date

Appointment Number
Appointment Time

Item No.		Brand	Description	Pack Size	Case Net Weight LBS	Weight LBS	Pallets	Cubic (cft)	Qty	иом	Unit Price USD	Total Price USD
75925-30780		CRYSTAL FARMS	Jalapeno & Haban. Jack Shingled Slices 10 Slices Plant No.: 55-250 / 2120930	12/7 OZ	15.75	17.64	0.02	0.81	3	Case	32.93	98.79
75925-30787	CENTRAL FRANCE	CRYSTAL FARMS	Pepper Jack Shingled Slices (10-Slices) Plant No.: 55-261 / 1461233	12/7 OZ	15.75	17.64	0.02	0.81	3	Case	32.57	97.71
75925-30788	CHESTON FRANCE	CRYSTAL FARMS	Wisconsin Sharp Cheddar Shingled Slices(10- Slices) Plant No.: 55-250 / 2120930	12/7 OZ	15.75	17.64	0.02	0.81	3	Case	41.67	125.01
75925-30789	CENTRAL PRIME	CRYSTAL FARMS	Marble Jack Shingled Slices (10-Slices) Plant No.: 55-261 / 1461233	12/7 OZ	15.75	17.64	0.02	0.81	3	Case	31.51	94.53
75925-30790	CONTRACTOR OF THE PROPERTY OF	CRYSTAL FARMS	Cheddar Cheese Shingled Slices (10-Slices) Plant No.: 55-250 / 2120930	12/7 OZ	15.75	17.64	0.02	1.89	3	Case	31.30	93.90



Page: 15/15

Sales Order Number: Sales Order Date:

SO-051433 05/14/25

Sold To: Ship To:

Paramount Export Agnes Chen

Tel: 323 581 1990

175 Filbert Stret, Suite # 201

Oakland, 94607

CA

Customer ID

P.O. Number

P.O. Date

United States

PAE

P00032832

05/14/25

CSR

Terms

Tax Ident. Type **INCOTERMS**

Legal Entity

FCA LOS ANGELES, CA

Net 14

Eduardo Linares

Ship Via

Paramount c/o Listo Produce

Los Angeles, CA 90021

1800 Bay St

Less Than Truck load

Delivery Date

Appointment Number Appointment Time

Item No.		Brand	Description	Pack Size	Case Net Weight LBS	Case Gross Weight LBS	Pallets	Cubic (cft)	Qty	иом	Unit Price USD	Total Price USD
75925-30792	CASSAN Films	CRYSTAL FARMS	Provolone Shingled Slices (10-Slices) Plant No.: 55-261/1461233	12/7 OZ	15.75	17.64	0.02	0.81	3	Case	32.57	97.71
75925-30793	asyr.	CRYSTAL FARMS	Muenster Shingled Slices (10-Slices) Plant No.: 55-261 / 1461233	12/7 OZ	15.75	17.64	0.02	0.81	3	Case	32.22	96.66
CRYSTAL FARMS					1808.23	2032.87	2.13	103.72	273			8,978.98

TOTALS:	Gross Weight LBS	2032.87	Net Weight LBS	1808.23	Volume (cft)	103.72	Cases	273.00	Pallets	2.13
guaranteed shelf life. Product u Consignee Shipping or Forwardi	send funds with estimate approva nconformities must be noted on Bi ing Agent. TropicalFoods will not p rery Confirmation. Perishable prod ge without notice.	ill of Lading at time of delivery b provide reimbursement without	notations					lr	Subtotal: nvoice Discount: Allowances:	8,978.98 0.00 0.00
									Total USD	8,978.98